Dividing Money (C)

—_

i

10.

Calculate each quotient.

86 ) €5413.70 2. 63) €3761.10 3. 28) €1926.40
51) €3919.35 5. 95) €6270.00 6.  25) €768.75
19 ) €1744.20 8 78 €5483.40 9. 24 €1495.20

If 10 identical toy robots cost €861.00, how much did each toy robot

cost?
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Dividing Money (C) Answers

10.

€62.95

86 ) €5413.70
—€5160.00

€253.70
—€172.00

€81.70
—€77.40

€4.30
—€4.30

€0.00

€76.85

51 ) €3919.35
—€3570.00

€349.35
—€306.00

€43.35
—€40.80

€2.55
—€2.55

€0.00

€91.80

19 ) €1744.20
—€1710.00

€34.20
—€19.00

€15.20
—€15.20

€0.00

Calculate each quotient.

€59.70

63 ) €3761.10
—€3150.00

€611.10
—€567.00

€44.10
—€44.10

€0.00

€66.00

95 ) €6270.00
—€5700.00

€570.00
—€570.00

<€0.00

€70.30

78 ) €5483.40
—€5460.00

€23.40
—€23.40

€0.00

€68.80

28 ) €1926.40
—€1680.00

€246.40
—€224.00

€22.40
—€22.40

€0.00

€30.75

25 ) €768.75
—€750.00

€18.75
—€17.50

€1.25
—€1.25

€0.00

€62.30

24 ) €1495.20
—€1440.00

€55.20
—€48.00

€7.20
—€7.20

€0.00

If 10 identical toy robots cost €861.00, how much did each toy robot

cost? €86.10
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